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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

double d;
doubl e e;
doubl e *f;
doubl e g

Poi nt _S *p;
Poi nt _S =*q;
Poi nt _S =*r;
Point .S s;
Point_.S t;

b = newint;
c = &a;

f = new doubl e;
g = &e;

p = new Point_S;
g = new Poi nt _S;
r = &s,;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ p = side;

(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';

3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?

@ plO] =S,
(b) pl[1] ="t";
(c) qlo] ='D;

(d) p = bread;
(e) q = side;

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (a)
2. (b)
3. ()
4. (d)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p heap
*( heap
*r st ack
*S error
*t error

End of Key, seed 12346 versi

Total Points: O

A

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S =
* [ Poi nt _S
&s Poi nt .S *
t->x error
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std

i nt main(void)

int *a;
int *b;
int c;

double d;
doubl e *e
doubl e *f;
doubl e g;

Point .S p;
Poi nt _S =*q;
Poi nt _S =*r;
Poi nt _S =*s;
Point_.S t;

a = new int;

b=&c;

e = new doubl e;
f = &d;

g = new Poi nt _S;
r = &p ;

s = &t;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

2. (2 pts) Which of these lines of code would produce a compiler errglaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1] ="t";
(c) a[0] ='D;

(d) p = bread;
(e) q = side;

3. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (b)
2. (¢
3. (d)
4. ()

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d error
* e heap
5. f st ack
*f st ack
g st ack
*( error
p st ack
*p error
*( heap
*r st ack
*S st ack
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x error
q.y error
g- >y I nt
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

/1 foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

int main(void)
{
char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";
char condi nent [ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl ;
<< endl;
<< endl;

n - 00T

/1 where sone extra code m ght go
#i ncl ude "fool.cc"

<< endl;
<< endl ;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int b;

int *c;
doubl e *d
doubl e *e
double f;
doubl e g;
Point .S p;
Point_S q;
Poi nt _S =*r;
Poi nt _S =*s;
Poi nt _S *t;

C = new int;
a=&b;

d = new doubl €;
e=&f ;

r new Poi nt _S;
s = new Poi nt _S;
t =&p;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;

2. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

3. (2 pts) Which of these lines of code would produce a compiler errgulakce at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d) r[1] ="i";

(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (d)
2. (b)
3. (@
4. (c)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p error
*q error
* [ heap
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

doubl e *d;
doubl e e;
double f;
doubl e *g;

Poi nt _S *p;
Point_S q;
Point.S r;
Poi nt _S =*s;
Poi nt _S *t;

(on
1

new int;
&a;

g=new doubl e
d=&e;

s = new Poi nt _S;
t = &r;
p=&q;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;
2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1l] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (a)
2. (d)
3. (b)
4. (c)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p stack
*q error
*r error
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int *b;

int c;
double d;
doubl e e;
doubl e *f;
doubl e g
Poi nt _S *p;
Poi nt _S =*q;
Point.S r;
Point .S s;
Poi nt _S *t;

a = new int;
b=&c;

—h
1

new doubl e;
g = &e;

—
1

new Poi nt _S;
new Poi nt _S;
&r

O T
I

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?
(8 s = cheese;
(b) g = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;
2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) p[1l] ="u;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (a)
2. (d)
3. ()
4. (b)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p heap
*( st ack
*r error
*S error
*{ heap

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *
t->x I nt
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int b;

int *c;
double d;
doubl e *e
doubl e *f;
doubl e g;
Poi nt _S *p;
Poi nt _S =*q;
Poi nt _S =*r;
Point .S s;
Point_.S t;

C = new int;

a=&b;

e = new doubl e;
f = &d;

p = new Point_S;
g = new Poi nt _S;
r = &s,;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) p[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1l] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (a)
2. (b)
3. (d)
4. (c)




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d error
* e heap
5. f st ack
*f st ack
g st ack
*q error
p st ack
*p heap
*( heap
*r st ack
*S error
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S =
* [ Poi nt _S
&s Poi nt .S *
t->x error
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

/1 foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

int main(void)
{
char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";
char condi nent [ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl ;
<< endl;
<< endl;

n - 00T

/1 where sone extra code m ght go
#i ncl ude "fool.cc"

<< endl;
<< endl ;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

doubl e *d;
doubl e *e;
double f;
doubl e g;

Point .S p;
Poi nt _S =*q;
Poi nt _S =*r;
Poi nt _S =*s;
Point_.S t;

(on
1

new int;
&a;

d new doubl e;
e=&f ;

new Poi nt _S;
r = &p ;
s = &t;

QO
1

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

2. (2 pts) Which of these lines of code would produce a compiler errglaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1] ="t";
(c) a[0] ='D;

(d) p = bread;
(e) q = side;

3. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (b)
2. (c)
3. (d)
4. (a)




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p error
*( heap
*r stack
*S st ack
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x error
q.y error
g- >y I nt
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int *b;

int c;
doubl e *d
doubl e e;
double f;
doubl e g
Point .S p;
Point_S q;
Poi nt _S =*r;
Poi nt _S =*s;
Poi nt _S *t;

a = new int;
b=&c;

g=new doubl e
d=&e;

r new Poi nt _S;
s = new Poi nt _S;
t =&p;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?
(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

2. (2 pts) Which of these lines of code would produce a compiler errglaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1] ="t";
(c) a[0] ='D;

(d) p = bread;
(e) q = side;

3. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?

@ s cheese;
(b) ¢ condi nent ;
(c) r[0] ="'D;
(d) r[1] ="i";

(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

@ q=mp;
(b) p[1] =1
(c) r[1] =" u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (b)
2. (¢
3. ()
4. (d)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p error
*q error
* [ heap
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0@)5

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int *a;
int b;
int xc;

double d;
doubl e e;
doubl e *f;
doubl e g

Poi nt _S *p;
Point_S q;
Point.S r;
Poi nt _S =*s;
Poi nt _S *t;

C = new int;
a=&b;

—h
1

new doubl e;
g = &e;

s = new Poi nt _S;
t = &r;
p=&q;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0] ='D;
(d) r[1] ="i";

(e) p = condinent;
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl1]
(c) rl[1]

(d) r = cheese;

)r)
)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) p[1l] ="u;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (¢)
2. (@
3. (d)
4. (b)

11/0@)5



Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d error
*e error
f st ack
*f heap
g st ack
*Q st ack
p st ack
*p stack
*q error
*r error
*S heap
*1 st ack

End of Key, seed 12346 versim
Total Points: 0

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

double d;
doubl e *e
doubl e *f;
doubl e g;

Poi nt _S *p;
Poi nt _S =*q;
Point.S r;
Point .S s;
Poi nt _S *t;

b = newint;
c = &a;

e = new doubl e;
f = &d;

t = new Poi nt _S;
p = new Point_S;
q = &r

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) p[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1l] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (a)
2. (b)
3. (d)
4. (c)




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d error
* e heap
5. f st ack
*f st ack
g st ack
*( error
p st ack
*p heap
*( st ack
*r error
*S error
*{ heap

End of Key, seed 12346 versi xJ

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *
t->x I nt
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int *b;

int c;
doubl e *d
doubl e *e
double f;
doubl e g;
Poi nt _S *p;
Poi nt _S =*q;
Poi nt _S =*r;
Point .S s;
Point_.S t;

a = new int;
b=&c;

d = new doubl €;

e=&f ;

p = new Point_S;
g = new Poi nt _S;
r = &s,;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) p[1l] ="u";

3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0] ="'D;
(d)y r[1] ="i";

(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (¢)
2. (b)
3. ()
4. (d)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p heap
*( heap
*r st ack
*S error
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S =
* [ Poi nt _S
&s Poi nt .S *
t->x error
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int *a;
int b;
int xc;

doubl e *d;
doubl e e;
double f;
doubl e *g;

Point .S p;
Poi nt _S =*q;
Poi nt _S =*r;
Poi nt _S =*s;
Point_.S t;

C = new int;
a=&b;

g=new doubl e

d=&e;

g = new Poi nt _S;
r = &p ;

s = &t;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;
2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1l] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (a)
2. (d)
3. (b)
4. (c)




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p error
*( heap
*r st ack
*S st ack
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x error
q.y error
g- >y I nt
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int a;

int *b;

int *c;
double d;
doubl e e;
doubl e *f;
doubl e g
Point .S p;
Point_S q;
Poi nt _S =*r;
Poi nt _S =*s;
Poi nt _S *t;

b = newint;
c = &a;

f = new doubl e;
g = &e;

r = new Point_S;
s = new Poi nt _S;
t =&p;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ p = side;

(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';

3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?

@ plO] =S,
(b) pl[1] ="t";
(c) qlo] ='D;

(d) p = bread;
(e) q = side;

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (a)
2. (b)
3. ()
4. (d)




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p error
*q error
* [ heap
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std

i nt main(void)

int *a;
int *b;
int c;

double d;
doubl e *e
doubl e *f;
doubl e g;

Poi nt _S *p;
Point_S q;
Point.S r;
Poi nt _S =*s;
Poi nt _S *t;

a = new int;

b=&c;
e = new doubl e;
f = &d;

s = new Poi nt _S;
t = &r;
p=&q;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) p[1l] ="u";

3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0] ="'D;
(d)y r[1] ="i";

(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (¢)
2. (b)
3. ()
4. (d)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d error
* e heap
5. f st ack
*f st ack
g st ack
*( error
p st ack
*p stack
*q error
*r error
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

/1 foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

int main(void)
{
char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";
char condi nent [ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl ;
<< endl;
<< endl;

n - 00T

/1 where sone extra code m ght go
#i ncl ude "fool.cc"

<< endl;
<< endl ;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int b;

int *c;
doubl e *d
doubl e *e
double f;
doubl e g;
Poi nt _S *p;
Poi nt _S =*q;
Point.S r;
Point .S s;
Poi nt _S *t;

C = new int;
a=&b;

d = new doubl €;
e=&f ;

—
1

new Poi nt _S;
new Poi nt _S;
&r

O T
I

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;
2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1l] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. ()
2. (d)
3. (b)
4. (c)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p heap
*( st ack
*r error
*S error
*{ heap

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *
t->x I nt
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

doubl e *d;
doubl e e;
double f;
doubl e *g;

Poi nt _S *p;
Poi nt _S =*q;
Poi nt _S =*r;
Point .S s;
Point_.S t;

(on
1

new int;
&a;

g=new doubl e

d=&e;

p = new Point_S;
g = new Poi nt _S;
r = &s,;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0] ='D;
(d) r[1] ="i";

(e) p = condinent;
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errgiace at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (¢)
2. (@
3. (b)
4. (d)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p heap
*( heap
*r st ack
*S error
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S =
* [ Poi nt _S
&s Poi nt .S *
t->x error
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

/1 foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

int main(void)
{
char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";
char condi nent [ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl ;
<< endl;
<< endl;

n - 00T

/1 where sone extra code m ght go
#i ncl ude "fool.cc"

<< endl;
<< endl ;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std

i nt main(void)

int *a;
int *b;
int c;

double d;
doubl e e;
doubl e *f;
doubl e g

Point .S p;
Poi nt _S =*q;
Poi nt _S =*r;
Poi nt _S =*s;
Point_.S t;

a = new int;

b=&c;

f = new doubl e;
g = &e;

g = new Poi nt _S;
r = &p ;

s = &t;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0] ='D;
(d) r[1] ="i";

(e) p = condinent;
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl1]
(c) rl[1]

(d) r = cheese;

)r)
)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) p[1l] ="u;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. ()
2. ()
3. (d)
4. (b)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p error
*( heap
*r st ack
*S st ack
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x error
q.y error
g- >y I nt
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int b;

int *c;
double d;
doubl e *e
doubl e *f;
doubl e g;
Point .S p;
Point_S q;
Poi nt _S =*r;
Poi nt _S =*s;
Poi nt _S *t;

C = new int;

a=&b;
e = new doubl e;
f = &d;

r new Poi nt _S;
s = new Poi nt _S;
t =&p;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;

2. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

3. (2 pts) Which of these lines of code would produce a compiler errgulakce at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d) r[1] ="i";

(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (d)
2. (b)
3. ()
4. (c)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d error
* e heap
5. f st ack
*f st ack
g st ack
*( error
p st ack
*p error
*q error
* [ heap
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

/1 foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

int main(void)
{
char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";
char condi nent [ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl ;
<< endl;
<< endl;

n - 00T

/1 where sone extra code m ght go
#i ncl ude "fool.cc"

<< endl;
<< endl ;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

doubl e *d;
doubl e *e;
double f;
doubl e g;

Poi nt _S *p;
Point_S q;
Point.S r;
Poi nt _S =*s;
Poi nt _S *t;

(on
1

new int;
&a;

d new doubl e;
e=&f ;

s = new Poi nt _S;
t = &r;
p=&q;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;

2. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;
(b) g = condinent;
(c) r[0]
(d)y r[1] ="i";
(e) p = condinent;

I
d

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?
(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (d)
2. ()
3. (b)
4. (c)

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p stack
*q error
*r error
*S heap
*1 stack

End of Key, seed 12346 versi 38

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

ob!

Ul

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int *b;

int c;
doubl e *d
doubl e e;
double f;
doubl e g
Poi nt _S *p;
Poi nt _S =*q;
Point.S r;
Point .S s;
Poi nt _S *t;

a = new int;
b=&c;

g=new doubl e
d=&e;

—
1

new Poi nt _S;
new Poi nt _S;
&r

O T
I

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) q = side;
(d) pl[1l] ="u";

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (¢)
2. (d)
3. (b)
4. ()

11/0

ob!

Ul




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p heap
*( st ack
*r error
*S error
*{ heap

End of Key, seed 12346 versi DFI-

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *
t->x I nt
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int b;

int *c;
double d;
doubl e e;
doubl e *f;
doubl e g
Poi nt _S *p;
Poi nt _S =*q;
Poi nt _S =*r;
Point .S s;
Point_.S t;

C = new int;

a=&b;

f = new doubl e;
g = &e;

p = new Point_S;
g = new Poi nt _S;
r = &s,;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) g = side;
(d) pl[1] ="u";
2. (2 pts) Which of these lines of code would produce a compiler errglaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errglakce at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sonme extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (b)
2. (d)
3. ()
4. ()

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p heap
*( heap
*r st ack
*S error
*t error

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S =
* [ Poi nt _S
&s Poi nt .S *
t->x error
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

owd:

o1

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std

i nt main(void)

int a;
int *b;
int xc;

double d;
doubl e *e
doubl e *f;
doubl e g;

Point .S p;
Poi nt _S =*q;
Poi nt _S =*r;
Poi nt _S =*s;
Point_.S t;

b = newint;
c = &a;

e = new doubl e;
f = &d;

g = new Poi nt _S;
r = &p ;
s = &t;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@) s = cheese;
(b) q = condinent;
(c) r[0] ='D;
(d)y r[1] ="i";
(e) p = condinent;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) p[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ='S;
(b) p[1l] ="t";
(c) a[0] ='D;
(d) p = bread;
(e) q = side;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/09%05
Name

Section 1. Multiple Choice

1. (a)
2. (b)
3. (d)
4. (c)



Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d error
* e heap
5. f st ack
*f st ack
g st ack
*( error
p st ack
*p error
*( heap
*r st ack
*S st ack
*t error

End of Key, seed 12346 versi DV

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x error
q.y error
g- >y I nt
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:
/1 quiz question
#i ncl ude <i ostreanr
usi ng nanespace std;

i nt main(void)

{

int *a;

int *b;

int c;
doubl e *d
doubl e *e
double f;
doubl e g;
Point .S p;
Point_S q;
Poi nt _S =*r;
Poi nt _S =*s;
Poi nt _S *t;

a = new int;
b=&c;

d = new doubl €;
e=&f ;

r new Poi nt _S;
s = new Poi nt _S;
t =&p;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

2. (2 pts) Which of these lines of code would produce a compiler errgrlaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u';
(c) q = side;
(d) p[1] =" u';
3. (2 pts) Which of these lines of code would produce a compiler errgulace at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) p[1]
(c) rl[1]

(d) r = cheese;

lrl;

)u);

4. (2 pts) Which of these lines of code would produce a compiler errglace at the spot
indicated by / where sone extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/0
Name

Section 1. Multiple Choice

1. (¢)
2. (b)
3. (d)
4. ()




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a heap
b st ack
*b st ack
c st ack
*C error
*d heap
*e st ack
5. f st ack
*f error
g st ack
*( error
p st ack
*p error
*q error
* [ heap
*S heap
*1 st ack

End of Key, seed 12346 versi

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b int =*
*b I nt
&b i Nt *x*
d doubl e =
*d doubl e
e doubl e =
&e doubl e =
p Poi nt _S
* [ Poi nt _S
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x error
&(p. x) int =
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int *a;
int b;
int xc;

doubl e *d;
doubl e e;
double f;
doubl e *g;

Poi nt _S *p;
Point_S q;
Point.S r;
Poi nt _S =*s;
Poi nt _S *t;

C = new int;
a=&b;

g=new doubl e
d=&e;

s = new Poi nt _S;
t = &r;
p=&q;

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

(@ p = side;
(b) s[1] ="u";
(c) g = side;
(d) pl[1] ="u";
2. (2 pts) Which of these lines of code would produce a compiler errglaice at the spot
indicated by / where sone extra code m ght go ?
@ aq=p;
(b) pl[1]
(c) r[1]

(d) r = cheese;

lrl;

lul;

3. (2 pts) Which of these lines of code would produce a compiler errglakce at the spot
indicated by / where sone extra code m ght go ?

(@ p[0] ="S;
(b) p[1l] ="t
(c) q[0] ='D;

(d) p = bread;
(e) q = side;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sonme extra code m ght go ?

(@ s = cheese;

(b) g = condinent;
(c) r[0]
(d) r[1] ="i";

(e) p = condinent;

I
d



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a int =*
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01
Name

Section 1. Multiple Choice

1. (b)
2. (d)
3. ()
4. ()

11/0




Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a st ack
b st ack
*b error
c st ack
*C heap
*d st ack
*e error
5. f st ack
*f error
g st ack
*Q heap
p st ack
*p stack
*q error
*r error
*S heap
*1 st ack

End of Key, seed 12346 versi JX

Total Points: O

expression | type
a I nt =
*a I nt
&a I nt *x*
b I nt
*b error
&b int =*
d doubl e =
*d doubl e
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *x*
t->x I nt
g.y I nt
q- >y error
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*
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CISC 181 sections 010-015, Practice Quiz Q01

Name

Section 1. Multiple Choice

The first four questions deal with the following programitigt

11/0

) o

o1

// foo.cc

#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

{

char cheese[ 10] =" Cheddar";
char bread[ 10] =" Rye";

char condi nent[ 10] =" Mayo";
char side[ 10] ="Pi ckl e";

char *p = cheese;

const char *q = bread;

char * const r = condi nent;
const char * const s = side;

<< endl;
<< endl;
<< endl ;
<< endl ;

cout <<
cout <<
cout <<
cout <<

n - 00T

/1 where sone extra code m ght go

#i ncl ude "fool.cc"

cout <<
cout <<
cout <<
cout <<

<< endl ;
<< endl;
<< endl;
<< endl;

n - O 0T




The following questions deal with this code excerpt:

/1 quiz question
#i ncl ude <i ostreanp
usi ng nanespace std;

i nt main(void)

int a;
int *b;
int xc;

double d;
doubl e e;
doubl e *f;
doubl e g

Poi nt _S *p;
Poi nt _S =*q;
Point.S r;
Point .S s;
Poi nt _S *t;

b = newint;
c = &a;

f = new doubl e;
g = &e;

t = new Poi nt _S;
p = new Point_S;
q = &r

cout << "H" << endl;
return O;



Answer these questions on your brown scantron form usingreoet2 pencil.

1. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

@ 4gq=mp;
(b) p[1] =1
(c) r[1] ="u;

(d) r = cheese;

2. (2 pts) Which of these lines of code would produce a compiler errgulacce at the spot
indicated by / where sone extra code m ght go ?

(@ p[O] ="'S;
(b) p[1] ="t";
(c) q[0] ="'D;
(d) p = bread;
(e) q = side;

3. (2 pts) Which of these lines of code would produce a compiler errgriaice at the spot
indicated by / where sone extra code m ght go ?

cheese;

(@ s
(b) q condi nent ;
(c) r[0] ='D;
(d) r[1] ="i";
(e) p = condinent;

4. (2 pts) Which of these lines of code would produce a compiler errgace at the spot
indicated by / where sone extra code m ght go ?

@ p = side;
(b) s[1] ="u";
(c) q = side;

(d) p[1] ="u;



Section 2. Short Answer(answer on this sheet)

5. (44 pts) Suppose you run the C++ program on the following page, angribgram reaches the line of code
that prints outi .

Indicate whether, at that point in time, the expressionminehe table on the left

e refers to a memory location on tistack,
e refers to a memory location on tiheap,
e would cause aerror (e.g. dereferencing something that isn’'t a pointer.)

Then, in the table on the right, fill in the type of each expi@ssor write “error” if the expression would not
be valid (e.g. dereferencing something that isn’t a pojmtensing the dot operator J on something that isn'’t

astruct.
expression | type
a i nt
expr essi on | Circle stack, heap or error *a
&a
a stack heap error 5
*a stack heap error b
b stack heap error
&b
*b stack heap error g
c stack heap error
*d
*C stack heap error
e
*d stack heap error
&e
*e stack heap error
p
f stack heap error
*r
*f stack heap error
&s
g stack heap error
t->X
*Q stack heap error
q.y
p stack heap error
q->y
*p stack heap error
(*p).x
*( stack heap error
&(p. x)
*r stack heap error
argc
*S stack heap error
ar gv[ 0]
*1 stack heap error
argv[0] [1]
ar gv
&ar gc




CISC 181 sections 010-015, Practice Quiz Q01 11/09)65
Name

Section 1. Multiple Choice

1. (d)
2. (¢
3. ()
4. (b)



Section 2. Short Answer(answer on this sheet)

expr essi on Answer
a st ack
*a error
b st ack
*b heap
c st ack
*C st ack
*d error
*e error
5. f st ack
*f heap
g st ack
*Q st ack
p st ack
*p heap
*( st ack
*r error
*S error
*{ heap

End of Key, seed 12346 versi Dy

Total Points: O

expression | type
a I nt
*a error
&a I nt =
b i nt*
*b I nt
&b i Nt *x*
d doubl e
*d error
e doubl e
&e doubl e =
p Poi nt _S =
*r error
&s Poi nt .S *
t->x I nt
q.y error
g- >y I nt
(*p).x i nt
&(p. x) error
argc i nt
argv|[ 0] char =
argv[O0][1] | char
argv char ==
&ar gc int =*




